Smarties

1. How many Smarties are there of each colour?  Make a table to display the data.

2. Draw a bar chart to display the data.

3. Which of the 3 types of average (mean, median, mode) is most appropriate to use in this case?  Why?

4. Make a design with the Smarties that has one line of symmetry.

5. Make another design with one line of symmetry.

6. Four friends share the pack of Smarties so each gets the same amount.  How many are left over?

7. Two friends share an identical pack of Smarties in such a way that the person who brought them gets twice as much as the other person.  How many does each person get, and how many are left over?   

8. I want to use this pack of Smarties to make Traffic Light biscuits.  Each biscuit has a red, a green and an orange Smartie on it.  How many Traffic Light biscuits can I make with this pack of Smarties?

9. I take a Smartie at random from the pack.  What is the probability that it is:

a) red

b) green

c) blue

d) brown

10. I take a Smartie at random from the pack.  What is the probability that it is orange?

11. In fact the Smartie I get is brown.  I eat it and take another at random from the pack.  What is the probability that it will also be brown?

12. What is the shape of the Smartie container?

13. Name 3 other things that are the same shape as the Smartie container.

14. Work out a way to measure the diameter of a Smartie.

15. I want to find the weight of one Smartie but my scales will only measure things in steps of 25g.  How can I get an accurate weight of one Smartie?

16. This pack of Smarties cost 35p.  How many packs can I buy with £2?

17. Use a calculator to work out how much each Smartie cost.  Give your answer to 1 decimal place.

18. I can buy a multipack of Smarties (4 packs for £1.10).  If I need 32 packs of Smarties, how much money can I save by buying them in multipacks?

19. A special promotional pack of Smarties, with 50% extra free in the pack, is sold.  How many Smarties are in the promotional pack?

20. The bar code uses a special code in which the last digit is a “check” digit.  The first, third, fifth and seventh digits are added together and the total is multiplied by 3.  The units column of the answer is added to the second, fourth and sixth digits.  The last (eighth) digit is chosen so that it will make the total up to the next ten.  Does this work for this bar code?  

